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5 After a shunt motor is up to speed, the Speed
be increased by: i

(A) decreasing field circuit resistance
(B) increasing armature ¢ircuit resistance
(C) reducing the load

(D) increasing field circuit resistance

(E) Question not attempted

vz Wi it 1fd T & (e, nﬁf@rﬁ:{aﬂaﬁé
ST ST Hahall 2

(@A) res T sfr B wT R

®) siTafie ST B

(C) TSl &9 HTh

(D) IS Tfdhe gfadie i TgTeht

€) SR |

6 Maximum efficiency of a transformer is obtained

at a load when —

Rl 2 BT AN

GET IT ON
Google Play

A 110/220V transformer is supplied with 110V,
50Hz supply to its low voltage side. It is desired
to have maximum value of core flux 4.2 mWhb.

Calculate the required number of turns in its
primary windings.

Th 1|0/220V;Taqaﬁtfra$rmama’re%aa1é
foed & 110V, 50Hz 1 afe T SIrelt 81 I FTFd
T SIRIFAT A 4.2 mWb BT ST Saht Srrfis

T F STavads U o GEAT Y T
(A) 118 (B) 150
(C) 220 (D) 120

(E) Question not attempted / Nﬁﬁﬁ'a )

The No-load/open circuit test performed in a

transformer to determine —
(A) Copper loss
(B) Mechanical loss

(C) Both core loss and copper loss

(A) Copper loss becomes the minimum
(B) Core loss becomes negligible (D) Core loss
(C) Copper loss becomcsl‘ equal to core loss (E) Question not attempted
(D) Core loss becomes tﬁe minimum sigerk & Attt v 75 Pt
(E) Question not attcmptcfi S e S——Y,
Reeft Zfaemic Bt o QeT, TS WA A § |
BV s A (A) RN
(A)  Forafy = & 8 B) T _
®) Fre @y & e (©) e T R FIR T AE
©) maﬁmeﬁ%mﬁm% (D) WETH
(©) g afy =g (E) sigafaws
(E) rgufta s 3
ES] N [ Contd...
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soil dcvclops over th
and quartzite of the pre-

11 ‘
¢ gfdmtc gnCIS

Cambarian
) perio
soil is less productive g i

nd found

hi in th
(A) Phaso i part of Aravalis, It jg suitable for € caster

[gebirc sum of I0 an millets, pul growing Maize,
(B) Alge » Pulses and oil geeds. (Choose the

. 3 m
(C) Phasor sum of To and .T_I appropriate option from below) N
i (A)  Des
The algebraic sum of Tpand e ) Desert
@ = (B)  Red and Black
{(E) Question not attempted (C)  Black and Regur
- Wﬁ;ﬁ.@gmﬁ. (D)  Alluvial
il (E)  Question not attempted
(B) Ioaﬂtllﬂdla’liaﬁ“_q‘ﬂﬂ iQ sﬁtqa'éalsawﬁﬁmﬁ?ﬁ%l agﬁgtmm;
= b St 3 Geff e & g e 2
P T HFhT, IS,

C) o 3T, FTHSANT - 9 "
A / ?@@Tmmma =& aad
@) 1, 30 F i Ciu| ' mﬁm?ﬁ)
R — (A) frart X g'

In double squirrel cage induction motor, the outer

cage winding has
(A)
(B)
©
(D)

Low resistance
High resistance
Very high inductance

High inductance

Question not attempféd

maﬁtmﬁ«ﬁ 3
(C) et T ™ e, Nl

0 e -» oG Gl 35(4\3;,
€) sgf@ms

12 Which type of forests ére found in the northern
and eastern slopes of the Aravali mountain range?
Choose the most appropriate answer from the
following options:

(A) Tropical dry deciduous forest

(B)
©
D)

(E)
srarelt o ZEet &

3rqeelt = -
TP S o T S €
ﬁgﬁmﬁﬁﬁﬁmmm
1 YUt 2
A W
(B)
©

() Tafa s

Sub-tropical mountain forest
Temperate forest
Tropical thorn forest

Question not attempted

-ﬁﬂaﬂwa“faar-ﬁftm

r—s

[ Contd...

> |

@ Scanned with OKEN Scanner


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

' AddaRy77

13

14

Which of the following project has brought

change in the ecology of Western desert region of
)

Rajasthan?

(A) Damodar Valley Project

(B) Indira Gandhi Canal Project

(C) Hira Kund Project

(D) Bisalpur Project

(E) Question not attempted

o 3 faver o 3 TR 3 o el
&= =t Wikl § aeaa arr R?

(A) SRR aRESET

GET IT ON
Google Play

15  Drought is a condition which is the result of high

variability in annual rain fall accompanicd by:

(Choose the most appropriate option from below)

(A)
(B)
©
(D)
(E)

watcr shortage

high yield of coarse grain
low yicld of fodder

large volume of water

Question not attempted

gar uw tE Rufy @ S aifiE awt 7 I
fadsiterar &1 afom 2, Raes gy faifsea gar

ST
mﬁﬂ: 2 (e 7§ & g ST faeed )
__;l/ T T

(C) Er e ST \S T
(D)  sEegCarEsHT B) TR IF oo U
() Tgaia s } W (C) TRFFAIW

(D) Ut RS AT
Which of the following wildlife sanctuary is ® EERa T

situated in Dholpur region of Rajasthan?

(A) Ramsagar

(B) Chambal National Crocodile Sanctuary
(C) Tal Chhapar

(D) Ramgarh Vishdhari ~ .

(E) Question not attempted

ﬁmﬁ%ﬁﬁ%aﬁqmaﬂsﬁammﬁ%
gt g, (@ae\l

(B) WWWW
©
(D)

AT BT
e fagard

E)

ES]N

It = - e

16 In which of the following region of Rajasthan

rice does not grow?

A
(B)
©
D)
(E)

2

A e

©
(E)

Jaisalmer
Hanumangarh v
Kota
Ganganagar

Question not attempted

e s e 4 e o e

(B) TG
e (D) TR
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17 Which of the following breed of €© A broadeasting syagioy transm;
‘ jasthan™? °f3000m, 4 : s 12 Wavelep,
Kamdhenu of Rajasthan - - Qapacitor o 000s e
: in paralle] (o . : uFis Conneeyeg
. (B)'"‘ Sanchori ) Vanable mMductor to fi
(A) Kankrcj g OSCIHatmg circuit. Ty, Ormaclosgd
. inductor ¢, © APProximae value of
(C) Jersey (D) Rathi A MUt be adjyseg
< into the pargj g M order to tune
1cular Station {5
(E)  Question not attempted - =
&I 3000 q‘]z(a,ﬁw .
. N @r %‘ 0.0005 wmm
Frfafaa § & ffe e 6 T A CTEH - DMFWQEHW@;@W%W
| £ TRy
FIHEY el T 87 ) S ﬁw%wﬂﬁrmﬁwm
3 S N N
— » T ST o Rt e o
(A) wiwE (B) @i ENHFa %
= T SRS SO S— i g 2
: |
©) M -
(A) SmH (B) 7mH
(E) gaf@yus
(C) 9mH (D) 3mH
(E)  Question not attempted / St wa
18 A low power factor of the circuit means that it
will
20 In a circuit, a resistance (R), a pure inductance
(A)  draw less [

) draw less linc current (L), and a capacitance (C) are connected in
(B)  draw more reactive power parallel across a sinusoidal voltage source of V
C , volt. The circuit current will lead the applicd
(C) cause lesg voltage drgp in the lipe ; "

L voltage i
(D)  draw more activ
e o + -
-l e e i, e SR (R), T 90 0w (L), 3
(E) Quesnonnotattempmd wE f T(C) va‘r?(,_if; G‘lﬂaﬁ’l a’ﬁ%ﬁefﬁ%
TRaY & & e T 2 aftas 9 3 i
T o . l i gEia § 72 70 A 1 e
X X - -
(A) =9 A Wy & sAfers gt A
(B) aﬁwuﬁ%mﬁa‘ﬂﬁsmm (A) Tc=lh
(©) Wﬁm?ﬂéa‘{mmw X @ Lk
>4 = I
(D) i fir wilts &fiam © H=15%%
- (B) mwfEw e ®) Te<h qfed P
. ted /A"
ES| N (E) Question not attempIetisss
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21  Ifa50 Hz sinusoidal voltage having an pmg val
alue

of V volt is applied to a Capacitance of C farad,
the current in the circuit, with the applied voltage
as the reference phasor, is given by

7fe v 9ie2 % rms 9 19T 50 Hz Saashig gy
C &S T TR 9 T S g, T wftwer & g,
wend o 5 & 3 A e e, By e
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24 By which amendment the lower age limit of
voters of Union and State legislature was reduced
from 21 years to 18 years?

(A) 60" Amendment

(B) 61%Amendment

(C) 65" Amendment

(D) 57 Amendment »

(E) Question not attempted

o e v e ST e s T

it Frereft 3 €t 21 99 & Hera 18 ¥ T A T

o 1133

(A) 60T G Wmmqﬁm

(C) 6SETEMNT (D) S7ai G

(E) aRaws !L %\: 2 >
S 3§

25 What is the maximum time limit for obtaining

Domicile Certificate under Rajasthan Public
'7Services Guarantee Act 20117
(A) 05 days (B) 07 days
(C) 10days (b) 03 days
.>C_ (E) Question not attempted

TTETH i Sarsit Y i it 2011 F 9ed
*w&ammwm%@aﬁra&mqmm

\V e ﬂ:77”qg?fiﬂhzﬁ§
®) o7ﬁ=rR/m

EiGiN
(A) —VoC (B) jVieC
© VijoC (D) jVeC
(E)  Question not attempted / AT W4
22 A parallel circuit has R = 1kQ, C= 50pF and
= 10mH. The quality factor at resonance is
TF GUFIAT ke d R = 1kQ, C= 50puF 3K
L = 10mH 21 3{{A1E T Q-TUTish E
(A) 90.86 (B)  70.70
(C) 78.76 (D) - 100
(E) Question not attempted / Fgafa 54
23 The form factor of an alternating quantity is g
by
average value
(A) maximum value
rms value
(B) average value C
lue
© i valie o>
average value g‘
(D) rms value \
. d
(E) Question not z‘i‘ttemptegg P
o el R i L
(A) sigaar/ st T
®) s o/ ST mm
© g A/
(D) sita wr/ ST T
(B) gafa@yd "

E5) N

© 10f= © oofm \7y0
=) 03 RV 5~
(€) srgafaw" S)m] 7y
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eY

i cofar
The potcmial differenc

. for
vides 50 m) of encrgy
prov -

coutomb of charge B ~ Rl
: AT

@wmmwﬁfﬂ%’

%%‘QSOm]ﬁ*Wm '

\'
A) SOV ® S0

(D) 5V

aFaid I

{©) S0kV

() Question not attempted /

One kKWh is equal to—
& KWH S0 8 -

{A) 765 kcal (B) . 535 kcal

(C) 440keal (D) 860 kcal

(E)  Question not attempted / STl W

A unit of specific resistance of 5 conductor is —

(A) Ohm/cm’  (gjqy cm’

(C) Ohm-cm (D:)‘ Ohm /¢y

(E) Question not atteml»,ﬁtd
Mm%ﬁ&znﬁﬂqﬁm :

(A) =/ &

- v,aﬁqfﬁtﬁz
(C) @i -y ) : S

(E) waf@ws

ES) N

-

29

30

[fthe length of 4 conductor
its area of Cross-

resistance will be —

(A)
(B)
(©)
(D)
(E)

|
GET IT ON
Google Play

Or wire is dOU
section is g|g

bled and
0 doubleq sthen the

Remain unchangeq
Decrease to f our times
Change at random

increase four times

Question not attempted

Hﬁﬁmmmmﬁmmmamm
ST STTIE FH1E T &6t Hf AT T fer e,

A wrferrer g -

(A) SuiEfda @m

(B) IR THT deh HE ST@T

(C) IFoo® T U Fed U
(D) SR TAT G ST

(E) SAgaia s

ik chronous machine short pitch coil and
n syn

distributed winding are used to

(A)

, k
To increase the magnitude as W ell asr::; ;

(B) he wave shape of induced em
the
sinusoidal.

istribution factor
Increase the distribu ey

o I:(c::ease the magnitude of emf indu

((ll:?)) Question not atle;r:aﬁdﬁ o ég?ﬁ

fishd ) @Y WM"&"‘W

aa:m%rcﬁ ( g N

( oite fra e farafer AEFST L

ST @
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ferd FfaT
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31 The thermal efficiency and clectric

al Cfﬁcicncy
of a steam power station are 30% ang 929,
respectively. The overall efficiency of the Station
is -
o W19 forsrelter Y Ardr qerer ot R g
FA: 30% N 92% A RN h Wy zagar
(A) 27.6% (B) 62.8%
(C) 45% (D)  55.8%
(E) Question not attempted / STTART W%
32 Large size steam plants and nuclear plants are
suitable for
(A) Base Loads
(B) Intermediate Loads
(C) Both Peak and Base Loads
(D) Peak Loads
(E) Question not aucmpféd
T2 SR F T e ST T WA e 3 fere
IITFH & '
(A) TR
B) Uifseds
© i s awas a
(D) diFdarR
(E) Aguia IF

Bl N

33

34

GET IT ON
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As the load factor of a power plant increascs, the

cost per kWh of energy generated

Decreases

(A)

May increase or decrease

(B)

Remain the same

©)

(D) Increases

(E) Question not attempted

S5-3% farrelt i 1 e e g 2, Sef
it ot g fohettare Her arma

(A) FediE

(B) oG Wl & AT UHel &

(© TR

(D) e

(E) gafaws

A generating station has a maximum demand of
20 MW and connected load of 40 MW. The
generated units are 4.36 x 107 per annum. The

demand factor is:

Tk W ( SRET ) Ry f Aftewan q@iT 20
AMERE & 3R Fas dis 40 AR 2 S|
TR i ¥ 4.36 x 107 1 WO R:

@ 12 ® 23

© 13 (D) 2
(E) Question not attémpted_ [ TR v
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A factory draws an apparent p e
‘ e active
lagging power factor of 0.65. The @

drawn by the factory is:

o & 0.65 ¥ AT arat et
mwﬁsm%lmmdﬁ"i
B)  185kW

195 kW D)
Question not attempted / :ﬂaﬁﬂﬁ' el

qr 300kVA T
S ORISR

(A) 228kW

(©) 285 kW
(E)
In a 3 Phase system the line losses are ‘W’ at
power factor of 1. If the power factor becomes

0.8 lagging, the losses will become

3 e R § T | WA i W BT &l

7fe ra $TeX 0.8 AT &Y ST &, T < &t S
(A) 08W ®) 125W
© 157w ®) 2W

(E) Question not attemptéd / 3'-!3?11’1?[ e

Flat rate tariff is charged on what basis?
(A)
(B)
©

Units Consumed

Maximum Demand

Connected Load anervInits Consumed
Connected Load ‘

Question not attempteﬁ

38

39

10

B |
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Domestic consumers are charged op g, b
€ bag;
aSis oft

(A)
(B)
©)
(D)

(E)

Block rate tariff
Flat rate tariff
Off peak tariff
Flat demand tariff

Question not attempted

ﬁqmﬁmﬁﬁwﬁr@a% AT 7555 oy
ST &:

(A)
(B)
©
(D)
(E)

The power of a heater is 500 W at 800

will be its power

=T & 2
RAC e f®
3T e RE
Jrgafa w

oC . What

at 200 °C if temperature

coefficient of resistance isax1074/°C?
400°C T T ST 1 A 500 Wl f g &
ATqEI TOTT 4 104‘/ oC 2, dr 200 o T
wifts Fr &t?
(A) 672W
(B) 526W
@) 620W

LW
¥ : ¢ attempted / Sl 2
(E) Question " [ i

d
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In the given figure, find the value of current |

40
A S STHHT T T 1WA 31 iy
(4).. 3R (B) 13A
5 214 D) 174
(E) Question not attempted / AR w
41  Ifthe resistance of wire is 2 Q, then conductance
of wire is
afy qr & ST 2Q ®, @ 9 T STeheT
= '
(A) 0.3 mho (B) 0.4 mho
(C) 0.5 mho (D) 0.1 mho
(E) Question not attempted / IFRd T4
42 Inagiven figure, the potential difference between
point A and B is :
é’fﬂéa@ﬁﬁ,ﬁgAaﬁIB%aﬁﬁW
@
6V B
A 3A 60 SW . .
—_—— = I
v
(A) 24V ®) 27
v
(€ 18V D)
et
rempted / ¥'3

(E) Question not at

E5) N

11

43

44

GET IT ON
Google Play

An ideal voltage source should have .

(A) Infinite internal resistance
(B) Large value of emf

(C) Low value of current

(D) Zero internal resistance
(E) Question not attempted
uF ey aleds g o BT =
(A)  ra it gt

(B) 3THUH FH ASTHA

(C) ORI FHTH

(D) :Eqariaﬁa:srﬁﬁq

€ omEfays

Nodal Analysis is based on

(A) Kirchhoff’s voltqge law

(B) Ohm’s law
(C) Maxwell’s law

(D) Kirchhoffs current law |
(E) Question not attempted

AT wamnfad

(A) Torteie @ e fFaw

@B) v FE

(C) Aagaw & faw

(D) %ﬁ‘mwmﬁﬁq

® omaw
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E5]

eY

ally in a region of

i i s radi
rcular coil expands ra X
e tive force 18

d no clectromo

magnetic ficld an
s can be because

produced in the coil. Thi

(A) the magnetic ficld is in the same plane as
the circular coil and it may or may not vary

(B) the magnetic field has a perpendicular (to
the plane of the coil) component whose
magnitude is increasing suitably.

(C) there is a constant magnetic field in the
perpendicular (to the plane of the coil)
direction. ;

(D) the magnetic field is constant

(E)  Question not attempted

o TR el S o 3 A F e T
it & 3R Freelt B A forg T o I TR

ST 21 AT SAITT & a1 @ FL 1ok

(A) SEF & TR et & @ 7 7 §
ST P 8 ot gehar € 3T ot

®) ST & ¥ U weEd (el F a9 1)
e BT & Sraen giEmT 3faa €9 4 58 @I
B iy

(C) d9ad (F=ct & a0 W) faam & & fem
SaHT &7 BT

(D) dahw &F e

(E) SIgaRaw=

In the given circuit, what is the value of unknown
resistor R, if the voltmeter read 4V and its
resistance is 10 kQ :

T afwer &, s wfvdes R From s 2, afy
T 4V v & 3T Fh TRAT 10 k © -
10kQ

av

=
120v byt

®)  270k0
®).5 290k
Question not attempted / St wsy

(A) 280kQ
(C) 260kQ
(E)

N

12

47

48

-
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Ad i i
C voltmeter is having the voltage range £
SC o0 ¢,

L ]
0 volts. An internal - resistance of met,
. €r i
400Q. Which of the following is the cu
Trent

required to cause the full scale deflectio
n; if

200k Q multiplier is used?

O St Aeertz d 0.3 10 aTeE 1 e iy 3
AT e SRR 40002 21 200k
T T 3T ST 2, A o A e e g
RESEARMEIEE T C ) T o ST 2y
(A) 488 mA

B) 499 A

(©) 49.9mA

D) 488 pA

(E)  Question not attempted / 31T T4

If rise time of input amplifier is 10 nsec and the
observed rise time on CRO is 15 nsec, then the

appropriate rise time of the signal is .

(A) 11.18 nsec

(B) 15mnsec

(C) 18.02 nsec

(D) 10mnsec

(E) Question not aticfnptcd

aﬁmmmwm 10 nsec & 3
CRoq;axar«ﬁﬁx%mmmwwnsec%ﬁﬁ

fopreret T ST I T o
(A) 11.18 nsec (B) 15 nsec
©) 18.02 nsec (D) 10 nsec
& .
d /IR T
stion not attempte 1
E Que "

J—
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50

S1

= |V

In a two wattmeter method of measuring power
in a three-phase circuit, the two wattmeters will
show equal readings when the power factor angle
@is equal to

=S wfhe 7 Wi W Yt At fafr i
aresfiet ST (ST feamdt st wra e o ¢
TR B

(A) 60° (B) 30°
€ o° D). 90°
(E) Question not attempted / 3Tf{jfﬁﬁ' e

An energy-meter having a meter constant of 1200
revolutions per kWh is found to make 5

revolutions in 75 sec. The load power is

& Sl-iet frme Hiex Reris 1200 =T gfd
foreiiaTe weT 2, 75 dehe | 5 Serht Trar g T

TrRIsIRARke R
(A) 100W (B) 200 W
(C) 1000 W (D) 500 W

(E) Question not attempted / A v

The sensitivity of a galvanometer is 60 division/

ampere. When a shunt is used, the sensitivity
t
becomes 10 divisions/ampere. If the galvanometer

resistance is 20 Q, the value of shunt 1S

SHECH
rerniiee 4 erefierT 60 e/
. 3 :ECEMIEY

10 feder/aedtae & <t 2
200 3, ATCHAAE
(A) 200

(&)

(E)  Question not attempted

5Q
15 Q2

(B)

4Q (D)'

13

E5|N

52

53
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High permeability magnetic material helps

(A)
(B)
©
(D)

)

to allow the flux to leak

in producing more current

in producing more voltage

to confine the flux within the magnetic
circuit

Question not attempted

I TR STl ST 9aTd 7eE T &

(A)
(B)
©
D)

(E)

FfiyaTe i Sfiw e o A

fire T S FA A

3k Fiees Iea= L A

e afey ¥ sfiat e (Fe) 5
Hifta e A

At v

In a magnetic circuit, once a flux is setup

(A) energyiscontinuously required to maintain
the flux

(B) energy is released in the form of heat

(C) energy is released in the form of light

(D)  no further energy is required

(E) Question not attempted

et e 3, T T SHETE TR 8 S

(A) ANETR (vee) F ST @Y F e fae
Sl < ITTavHAT Bt &

(B) sﬂfm%mﬁwm%

©) mfm%mﬁgiﬁg}m%

(D) et fafees st ST i

(E) rgafawx
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f two coils connectcd

1ed inductance © )
mblnCd imn ~H1 dependlng 0

rrents in the coils. If

54 Theco n the

in series 1S 12 Hor 0.27

tive directions of the cu

when iSO i
ihe value of mufud

rela ]ated, has a self.

one of the coil,
inductance of 04 H,

inductance willbe

cax‘:m—cro.afﬂ%,a’rmm“m

B
(A) 14H (B) 025H
© 04H ©) 10H

(E) Question not attempted / Zﬂzﬁf{ﬁ T

55  Asolenoidis Im long and 3 cm in mean diameter.
It has five layers of windings of 100 turns each

and carries a current of 5A. What is the magnetic

field at its centre?

qmqft-m‘?m 1 n‘iaaa"raﬁisﬁrﬁaﬂuamﬁ
R ww 100 & et v gy § TR sA
amm%aﬁrzﬁ%lsu%hﬁt?;aﬁw SERS

(A) 0314 x10~2 T

(B) 3l4xig2q

2.5x103 7

©

(D) 3.14x1072T

(E)
ES] N

Question not attempteq / 3y :
Rl AN w

56

14

GET IT ON
Google Play

Match List I with List [T
List I List I1
1dL sin®
a. dH :
47tr2 - Ampere’s law
b. I=¢ Hdl

1L Biot-Savart law
II. Faraday’s 1aw
IV. Gauss’s law for

magnetic field

T T g 19 g
el SRl
a. dg=1dLsin0 o
4nre

b. I=¢ Hdl 1. sr-ureEs fam

c. $BdS=0 1. ¥ &

d. emf= EdL V. Jahr & % fag
TiTg &7 g

Choose the correct answer from the options given

below:

3 forw o et @ HE SUE:

(A) a-lL, b-L eIV, d-1II

(B) a1, b1, eI, d-1V

(C) all,bIV,cl, d-I1

(D) a1, b c-1V, d-1

(E)  Question not attempted st ¥4
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Which clement shows the property of diamagnetic

GET IT ON
Google Play

7
. . 59 A coil has 2000 turns. A current of 2A causcs a
materials? lux 4 mWb (o link the coil. What is the self-
(A) Copper ) Calcium inductance of the coil?
w Fraeft i 2000 ¥ ¥ Faelt F 24 FaRT4 mWb
(C) Aluminium (D) Iron T T I AT B el T TS 87
(E) Question not attempted (A) 4H (B) 6H
g (© 1H (D) 2H
F AT 7T VagahT ( SEANARS yuwert @ qur
s (E)  Question not attempted / FigaE 9 A
Twiiar 87 '
&) qis (B) Hfcaam 60 In star connection of 3-phasc system, the line
© C \’ﬁ s D) : e voltage is @es of phase voltage.
337 UMl HY R FAE §, AT e B
(E) ITIRRE e T
A 12 ® 3
a © U3 ® V2
58  The unit of mmf is normally taken as b iion oot ttciﬁpted/ o
ho- 4 estion not @ Fgafd
(A) Weber per metre? 0
(5.0 AT T 61 Who led the Mughal forces in the Batte of
Haldighati?
(C) Ampere turns per metre (A) Man SinghI
(D) Weber (B) Rao Jaimal
, (C) Patta Sisodiya
(E) Question not attempted
P (D) Rana Sanga
-l ;3 S
THUHTS, Y TS AHIAG _ (E) Question not attempted
(A) eyl e g’fl’ FeETe % I § TSt {1 Y ST R
| \ e | eh®
T REI
(B) wHERe | K_)
Q\W (B) U= AW
©) el sfadiet (0 wrfwRa S Y o M
; <h —
(D) <= (D) T g R
®) swgefa A (E) g Se
15 NS T
[ Contd.____

E5} N

G Scanned with OKEN Scanner


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON
Google Play

4 Mira B &
- ater a1C calle 6 ira Bai one of the saints of Bhakt; MOVemgp,
Forts which are surrounde was born in and marricd in
e 0 a. Mewar b: Marwar
(A) Paridh e c. Merta d. Maurvi
(B) Auduk Durg (A) dand b respectively
() Sainya Durg (B) cand arespectively
(C) band c respectively
D) VeaDug (D) aand b respectively
(E)  Question not attempted (E)  Question not attempted
%%ﬁw@@aﬁ,ﬂaﬁ% Jie e e A AR ad we
e ' ﬁmmsﬁtmﬁaﬁ ____dgema
A
@A) k‘\'? 3’ > a HEE) b. WRATE
g sfeET ( ¢. : d. it
© gt 9 (A) A d3Rb
° \=fB) AW c 3N a
© = (C) W b 3iiTc
() FFERayd (D) SHAST: a 3 b
(E) gaiawy
63 In order to safeguard Jaipur from Maratha 65 Pichhvayi painting is" associated with which
incursions which fort was bmlt by Sawai Jai school of painting? -
Singh? (A) Bundi (B) Kota
(A) Nahargarh Fort (C) Nathdwara (D) Kishangarh
(E) Question not attempted
(B)  Bhangarh Fort R gmmﬁmm&m%’
© Taragarh (Ajmer) a) & (B) P&
(D)  Jaigarh Fort : Net€]  TRE :_(JD) :
. ) STl 3=
(E) " Question not attempted & ‘ .
. . f whic
RREE g I TIT ST | E‘ﬁi — %ﬁﬂ - 66 ‘Rangdi’and Neemadf are subdialects 0
ngﬁ?m%m Rajasthani dialect?
: alawi
s ' Nagadi B) M
% Mﬁﬁ' ( qu 'q ﬁ> (A) y . (D) Shekhawati
(B) WG fpy \,{ R d
. - SV hIS )  Question not attempte
(©) g ¢ : dl h£Q4 ffi"'l'ﬁ" 3 m@nﬁa‘ﬁﬁﬁ3 Sl
W) ' — C— .gq
E ' &
(E) i@y o _— (D) e
E5 Srai@ ¥
| N (E) = [ Contd
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67 To which category of instrumengs docs
b > "c

Bhapang belong?

() Ghan (B)  Tat

(C)  Sushir (D) Avnadya

(E) Question not attempted
E_ﬁ_;.aauﬁ%amﬁa’rﬁ AT R? \/

@A) W By d\/s-
©) ¥ (D) 37 \
(E) gui@yH ' O‘T{/w

The best suited motor to drive 3/4 H.P. air

compressor would be motor.

(A) Single-phase series
(B) Shaded-pole

Resistance split-phase

©
(D) Capacitor-start

Question not attempted

E)
3/4@.tﬁ.w¢m$}aéﬁ*mmm
Ber  wemar

(A) et - St A0
Peede

Siaf A

(B)
©
(D)

(E)

E5) N

17
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GET IT ON
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A 6-pole, 3-phase alternator running at 1000

r.p.m. supplies to an 8-pole, 3-phase induction
motor has a rotor current of frequency 2Hz. The

speed at which the motor operates is -

(A) 720r.p.m. (B) 1000 r.p.m.
(C) 750 r.p.m. (D) 960 r.p.m.
(E) Question not attempted

1000 ST T, T a1ell 6-91d, 3-hef 3Teetel
8-GIel, 3-%<T SSF HIST i 2 &3 Taf H et
o ot gt T 21 for ifer & witex deanford gl
2a|R-

(A) 720 ATHTA.
(B)
©
(D)
®

1000 JATLULEH.
750 ALHLTA.
960 S IT.TH.
SATafa 99

At starting, the winding of a 230V, 50Hz, split-
phase induction motor have the following

parameters:

Main winding: R=4Q; X, =7.5Q
Starting winding: R =7.5Q; X, =4Q
The current in the main winding is

T& ¥, 230V, 50Hz, R o et
arEfE ¥ frefefaa Ffie &9 &

T ARRET R=4Q; X =7.5Q
TEA aERM R=75 Q; X, =4Q

T ARfeTARER__ o |
(A) 22A (‘B) 9A
© 274 ® 1154

A"'J" 3

(E) Question not atté;iﬁpted / JFaiEa g
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72

eY

e han largest
Which of the following motors has the 1arg

starting torque?

(A)  Split-phase motor

(B) Capacitor-start motor
(C)  Repulsion motor

(D) Shaded-pole motor |
{E)  Question not attempted

Frerfirfee i & Rew ey s ot (316)
TR

(A) Redeaw
®) FiereRaw
(©) Ruewm R

D) ISTEHERR
) gEiawE

Which of the following is the normal arrangement

of the armature windings and fielg poles in a
three-phase alternator?

(A) Stationary armature. and rotating field
poles
(B) Stationary fielq poles and Stationa |
(C) Rotating field polcsland folating armagy,
o re
D)  Stationary field poles gng rotating armaty,
€ e
(E) Question not altempye |
1t et & i g g drer oy
g aamﬁqﬁrﬁaﬁ&ﬁq Wiy
(A) et st i ooy i
(©) iﬂhmﬁﬂ' 3T q;“h

73

74

75

18

GET IT ON

Google Play

The input to an llOOO-V, three pha

connccted Synchronoyg motor issc, o
effective resistance angd Synchrongy
per phase are 1 Q) ang 5 Q respe

power supplied to the motor is
11000-V, 7 %5 eﬂtwaﬁmﬁaﬁm%
SRz

T SOA R0 50 It o sy o
ﬂ@nmzmaﬂtzsg%@aaﬁﬂm

CtiVCIY~ Thc

2 )
(A) 8767SKW  ®B) 50973 w
©) 38.1kW (D)  786.05 kw

(E)  Question not attempted / 3G yar

The d.c. armature resistance of a Y-connected
alternator measured aéross its two terminals is
0.5Q. The per phase resistance is .

Y-H9eE TR ¥ 3 2fifelt o amr m de,
TSR 0.5Q R vhi ey

(a) 1Q (B) 025Q
Q) 15Q D) 05Q
(E)  Question not attempted / JTTART ¥4

What happens to the resultant rotating magnetic
- N‘o
field when the connections to any of the

phases are interchanged?

(A) TItdoes not rotate..
(B) The direction of rotation is reversed. d
(C) The direction of rotation is not reversed-
(D) There isno magi_;_etic field set up-
i d
(E) Question not attempte e
mamaaw@%mm&m@
ST &, qy aforrsft i g SEE]
(A) FETAT 7
(B) quha%ﬁmsazsrﬁﬁ’an
© R ﬁmﬁma
(D) aﬁéaﬂﬁq aq efad d
@® g s
-
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when the value of the ficld excitati
76 tation current is | 78  The synchronous reactance of an alternator is

varied from a low value to the n
. . Ry Ormal value, generally than armature resistance.
which of the following depicts the variati '
; t . , ionof [ (A) 5 times greater
the armaturc currcent:
. (B) 10 to 100 times greater
(A) Itdecreases from normal value to zero (C) 10 times smaller
(D) 5 times smaller
(B) [Itdecreases from a large value to minimum (E) Question not attempted
value .
T IS T eI croh T JTHT=Td: =T
(C) It increases from a minimum value to a gfeta & grar el
large value (A) STATSEET
_ (B) 10® 100 AT ST
(D) Itincreases from zero to normal value © 10 T BT
(E) Question not attempted D) 5 QHTEﬁZT
(E) Fuia ¥

S O IIST T T WA B A H AH 6
gfafda ar Fr=forfae § & i a7 3=t
B, A _ﬁ il 79  Which of the following statement is not true for a

T 3 R F are? : synchronous generator? »
(A) IS ﬁﬂf}‘ﬁm% (A) Laminated steel sheet are used in stator &
rotor )

®) TS wmﬁm% (B) Armature winding is distributed winding

©) qgwmaa—gqﬁﬁm 2 (C) Salient type rotor is used in high speed
) turbine driven generator

®) ﬁs@ﬁmmﬁm% (D) Stationary armature & rotating field

(E) rafa 94 - system is used

(E) Question not attempted

] frforfaa § @ = a1 wu s S & fae
xpressed in T 2

71 The rating of an alternator is € ‘
M, et 3t At § Afes Wi e = 3@
<oy b STt 2 (A) .
A Hrfer i § L B
(A) hp. ®) smiR e faRa Ao
(B) kVA : (C) =i T aﬁ“mﬁﬂ%@m
(C) kVAR (D) mmm%mmmw
©) kw ' , -t | frarmar g
pel (E) gaiawy
(E)  Question not attcmP‘¢d/ > 19 e
BN [ Contd...
B e Y —
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81

ES]

eY

’ " -circuit
In which type of fault maximum short-c1

current occurs?

Double line fault to ground

(A)

(B) Single linc fault © gipund
(C) Multiple line faults to ground
(D) Three phasc faults to ground
(E) Question not attempted

R T S AN F it wiE-afke HE R
AT R?

(A) TS W ST A AY

(B)
©
D)
€)

TS W T A 3T
TRS WG ARAAN
PISSACRERCIIRA L
A ¥

Possible faults that may oc_cﬁr on a transmission
line are X

a 3 phase fault

b. L-L-G fault

¢ L-Lfault

d LG fault

ZHfi T TR e G v

a. 3 %F qIY 5

b. LLG3N9

c. LLZW

d LG3w

The decreasing order of severity of the fault from
stability point of view is
Rerca 5 gfior v 'cﬁ?f!?ma:mzmmg
(A) a-d-c-b (B) a-c-bd

©) acdb ® a-boc-d

(E)  Question not attempted / STl wa

N

82

83

20

GET IT ON
Google Play

Ina thyrite lightning arrester the resistance

(A)

Increases with the applied voltage.

(B)  Increases lincarly with the applied voltage.

(C) Is high at low current and low at high
current.

(D)  Varies linearly with the applied voltage.

(E)  Question not attempted

AT AT e § i

(A) T T & 4T T 2

(B) TN e o 41 Ras &9 F wear 2

(C) = a1 W= IR I= 90 WHA Far 8

(D) W SIS 3 |1 Xaeh &9 & F5er 2|

(E) 3rguiaws

Ring main distribution system is preferred to

radial distribution system, because

(A) Power factor is high

(B) Itisless cxpensivé

(C) Voltage drop in the feeder is very high
(D) Voltage drop in: the feeder is less

(E) Question not atferﬁpted

mmﬁmmﬁmmmam
T ST &, Fifh

(A) e S 3 BT
@) T ESTANE
© wﬁa}@qﬁ}ma@aﬁﬁﬁ?ﬁ%
©) oA SFATE
® e
[ Contd--
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84

85

86

According to Indian  Electricity Ryle tl 87
, the

maximum load permitted on a power sub-cireyjt
5 i

outlet is:

(A) 1500 Watt (B) ~ 3000 Watt

©) 1000 Watt (D) . 800 Watt

(E) Question not attempted

st e e o T, Wt aer-afihe sTreedie

X AT SATHAH TS &

(A) 1500391 (B) 300071
(©) 10003 (D) 800dTE
(E) 3TdI ¥

According to Indian Electricity Rule-48, the

maximum permissible value of leakage current

that should not exceed beyond times of
full load current. « -
st frga Fram-48 & I st HE H
s e A g, A A FEF
™a sy 7€ T <fedl

(A) 1/2000 (B) 1/5000

(C) 1/10000 D) 1/1000

(E) Question not attempted/ 3@% R

What should be the valué 'q_f earth resistance for
large power station? l

@A) 05Q ®. 29

© so o9

(E) Question not attempff? /5% 4

ES]N

I SRR L

GET IT ON
Google Play

The cheap & temporary system of internal wiring
is:

(A) Cleat wiring

(B) CTSorTRS wiring

©) Casing-capping wiring

(D) Conduit wiring

(E) Question not attempted
sriafies i S ad 37 SRR St &
(A) FfEaEeT

B) diiea AT AR GiRiiul

© AR

(D) IR
(E) Igaiayd

Total flux required in any lighting scheme

depends inversely upon:
(A) Surface area

(B) Utilization factor
(C) Space/Height ratio
(D) Mlumination

(E) Question not attempted
ot w0 & g9 W PR AT R:

(A) UdE&ET

(B)  I9ENT IR

(C) TS ST
©) vk
(E) gufa v
[ Contd...

@ Scanned with OKEN Scanner



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

g furnace suffers from | 91

) The multipurpose project across river Chamba]
. followin 4
89  Which of the

- designed to generate electricity (MW) to control
pinch effect?

floods and provide irri gation water to surrounding
< induction furnace
(A) Core type in .

; agricultural land in Rajasthan, lics to the North of
(B) Corcless induction fumace Gandhi Sagar Project. It is named as: (Choose
) Vertical core type induction furnace the most appropriate option from below)

( Jertic

L (A) Jawahar Sagar dam

(D) Resistance furnace

) Rana Pratap Sagar dam

(E) Question not attempted (©) Rampad Sagar dam

(D) Ganga Sagar dam
A sTgT (E) Question not atterﬁpted
TR - ST A I gt fee, o ¥ arg 3
(A) IS TR YW WE ﬁ#ﬁamﬁmmﬁ@ﬁmﬁraﬁﬁaéww
B) WeREIETE > ST M % forg forwret (MW)WE@T‘Q’G%‘{
_(Hu festme it % 2, <t et wrR ofeieEr F swd
(© SIS TR Ny Foora & 5w AW ¥ (et & ¥ el s e
®@) i ?ﬁ) ;
— (A) SARCEIR T
® = ' w TOTT ST AR S
(C) T9IE TR i
90  Magnetic materials are heated with the help of (D) TTHITSE
i ‘ (E) Iaf@wx
(A) Electric Arc - S
(B)  Electric Current 92  Which of the following canals irrigate the Sri
(©) Radiation Ganganagar region of Rajasthan? (Choose the
_ Ty most appropriate option from below)
(D)  Hysteresis Loss 40 %) Gang Canl s
(E)  Question not attempted (B) Bharatpur Canal
T Tl 7w %5 e & R (C) Hanumangarh Canal
e o 3w 2y (D) Indira Gandhi Canal d
| 2 stion not attempte
| (A) fagaay ® Q= QT TSR 3 2 T &
& o % - B ) (Frer i et v et )
| ®) fggam o iy frrard w2 7 3
— (B) VAT
(D) A et ) o © EEEET
(E) Wﬂﬂ & & (D) '{ﬁ("m?ﬁm o
, - ; T
ES] N ' ® T [ Contd...
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which of the following is the longest ri
river

entirely flowing in Rajasthan? (Choose the most
S ost

appropriate option from below)

eY

93

(A) Banas (B)  Banganga
© C hambal (D) Luni
() Question not attempted

S e 8- 7 ¥t 7 k. e
aﬁﬁmaahé‘r%? (= 8 @ o 3w forered

)

\ s (B) o
() S ®)
(E) gui@sd

94 The Head-quarters of the North-Western zone of
Indian Railways is situated in:

(A) Jaipur (B) Mumbai

©
(E) Question not attempted

e Y 3 s afad sed # FEE T
ﬂw&
/

Allahabad (D) New Delhi

Pefrbleum Corporation

95
din which year?

The Rajasthan State
Limited has been constitut®

23

96

97

GET IT ON
Google Play

Which amendment dealt with Urban local bodies

or Nagarpalikas’?

(A) 734 Amendment

(B) 74" Amendment

75t Amendment

©

7274 Amendment

(D)

Question not attempted

(E)

aﬁwmmﬁmmﬂwﬁmﬁmﬁmm{%ﬂ?ﬁ
T geifera ar?

(E)

Which Schedule was added to the Constitution
by the 74 Constitutional Amendment Act?

(A) 10t @) st

5Ih

© i(‘D) 12t
(E)  Question not attcniptcd

.lﬁ i way i g wfum St
SRSRURISRY

(B)

(A) 10 St
© =t D 1

——
(E) vgafe v

[ Contd...
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According to which Article of Constitution of

India. the Chief Minister is appointed by the

98

Governor of a state?

(A) Article-165

(B) Aticle-164

e

(C) Article-163

(D) Article-166

(E)

Question not attempted

ST % SRR ¥ R SRR ¥ ST, e
=1 FgiE Uo7 F Tsaue g R
Co——

1S3
(A) ITRT-165 —

According to the Human Rights (Amendment)
Act 2006, what is the number of members of
Rajasthan State Human Rights Commission2

AR @) sy 2006

v , F IER
By L\ e
A) 3 i SE El"_‘_‘_”_
® s S
Lo )
© 7 P —

Yt 2 ~
(E)  Question not attempted / RARLILGE

ES] N

&2

Lz

101

24

(E)

GET IT ON
Google Play

100 The State Information Commission can imposc a

maximum penalty of ¥

on the Public
Information Officer,
TS HET ST g stfirenry o 2

6T ST T et 2
i a [~ -;
(A) 15,000 »2S
(B) 20,000 Sl o E i
Yoo =2 Soew/—
\_r_(Q/’ 25,000 — —_—

(D) 5,000
(E)  Question not attempted / ST W

In Rao Jodhaji’s time the first _ was
constructed in Jodhpur. (Choose the most

appropriate option from below)

(A) Lake (Jheel)

(B) Stepwell (Baori) ;

(C) Pool (Nadi)
(D) Pond (Talaab) »‘_'- :
E)

Question not attempted

msﬁw%mﬁmﬁm____ﬂ

fomfor gatr am e i Tl S e )

A) #w

(B) «EH

: ~
FE = Sier
" Jlong

(D) I

AT I
? [ Contd...
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102 Overwhelmed by the beauty of whicy, fort diq ¢
1¢

GET IT ON
Google Play

Bnt\sh historian James Tod say that if 1 104  In which year did the Princely state of Jaipur sign
W he .was
ffered a jagir in Raj the subsidiary alliance? -
° firtgl asihan, he would choose A% -
i (éoy g I vers |t € forw 9 swanr 6
(A) Chittorgarh \ 3o
: & ?
h 7|‘< : .
(B) Mehrangarh /é’( E \Mlg (B) 1819
(C) Junagarh __\, '
/ (©) 1820 (D) 1817
(D) Bhainsrodgarh
(E) Question not attempted / Hgﬁﬁ?f o
(E)  Question not attempted
\y fr forct A Tagdt @ AfnE S fafew
3fierasR SV 3 3 heT AT o o738 gem it | 105 In which year was the Praja Mandal established
BIEEIRNE M EIE LI} forer =t = in Bundi? "
(a) FriieTg (B) e S Ty Hee st e fore ad g o
EpE— mt—
© \& t— ey (A) 1939 (B) 1940
) “Te] £3) -
- (C) 1941 \&) 1931
(E) Question not attc:'ﬁipted / alj?lliﬂ BE
103 Name the person who established the ‘Gramotthan ;
Vidyapeeth’ in Rajasthan. -
(A) Swami Keshavanand 106 Under which section of the Act, State of Rajasthan
(B) Acharya Tulsi was formed? ’
(C)  Acharya Naresh Muni (A) Section05  (B) Section-10
(D)  Pt. Jhabarmal Sharma, (C) Section-09 (D) Section-04
: ed \ :i
@  Question it atteryl b # oo (E) Question not attempted
I e 7 A T A T e |
sifurf <6t o A sididpusrem 7
foremite &t v 1 ° (Z57) iduahis
N mE AT D S 7
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arcas of Rajasthan arc 108  Arr:

ch of the following

107 Whi - Pakistan international

located oOn the Indi

border? . North- East, South-East South-West and Eag
Choose the most ahpmbrimc answer from the . Madhya Pradesh

following options. b.  Gujarst

(A) Pali, Sirohi, Jodhpur and Dungarpu .  Haryana

®) Udaipur, Churu, Jaisalmer and Banswara d.  Uttar Pradesh
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(C) Sri Ganganagar, Bikaner, Jaisalmer and . ﬁﬁ‘lﬂ'{ﬁmw
& o SaRyg
Barmer

(D) Hanumangarh, Jodhpur, Barmer and Sirohi
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09 Which of the following rivers orjginy th
m the

Bairath hills of Jaipur Regnom

Choose the most appropriate answer from the
following options:

(A) Parvati River

(B) Mgj River

(C) Banganga River

(D) Kali Sindh River

(E) Question not attempfed
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110 Which type of climatc is found in the south
eas;cm part of Rajasthan? (Choose the most
appropriate option from below)

(A)  Sub-Humid

(B) Humid

(©) Most Humid

(D)  Arid and Semi-Arid
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The Maximum torque of DC series motor is

limited by:

(A) Commutation

(B) Speed

(C) Armature current |

(D) Type of brush of DC motor
(E)  Question not attempted
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In a N-type channel, Vgs =0 and Vpg is increased,

which of the following does not happen?
(A) Decrease in drain current

(B) Ipreaches a limited value

(C) Depletion region decreases

(D) Depletion regionvincrcascs

(E)  Question not attempted
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.ch of the 115 The power cfficiency of a centre-

1 takes plact: in i secondary full wave rectifier is: il
113 The Avalanche © " of @ transistor ry rectifier is: (Choose the mog
regions f operation appropriate option from below)
lowing g ; ;
s y Arer-dve Aell ot AT THRPRIT Y g 3,
(A) Cut'ofr u (ﬁﬂ ﬁﬁ}’laﬁ v’qﬂ?ﬁ iaaﬁ g a\'ﬁ‘) .
P (A) 57%
(B) Breakdow® ) B) 7%
1%
(C) Active K G
(D) 48%
(D) Saturation Py (E)  Question not attempted / STFAIT 74
- 3 i ttemptC’d
(E) Questionnotd 116 For a germanium transistor, which of the
(i) TWE g{—:ﬂm ¥ G & following is not a sufficient magnitude of Vg to
a5 ﬁﬁfﬂﬁﬁm%? provide the necessary forward emitter-base bias?
Siae | < e 3 o, FrefRae 3 & B Vi
(A) I T GRATOT ST 37T Schisich g AT e 3
F forg qate 7 &2
(B) WHSH (A) 0.7V>Vgg>02V
© @ . (B) Vgp<02V
(C) VBB >07V
(D) Egi y (D) V=07V
(E) Question not atternpted / SR
(E) SqEi@wd :
117 In which of the following texts of ancient Indi2
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Khejari trec has economic and cultural association

eY

118
with Rajasthan. This is because:

statement I: It fixes nitrogen and makes the soj]

fertile.

statement II: Its twigs are worshipped as a

symbol of Sri Krishna on Janmashtami.

Choose the most appropriate option from below:

(A) Both Statement I and Statement II are
false.

(B) Statement [ is true but Statement IT is false.

(C) Statement I is false but Statement IT is true.

(D) Both Statement I and Statement II are true.

(E) Question not attempted
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119 Bappa Rawal was the ruler of which famous

dynasty?

(A) Rathores (B) Guhilas
(C) Bhati (b) Chauhans
(E) Question not attcrﬁptcd
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120 Amber Fort built by the Kachhawaha Raja Man

Singh in 1592 is an architectural blend of:

(A) Persian and Mughal Style

(B) Roman and Belgian Style

(C) Hinduand Mugﬁa] Style

(D) Islamic, Persian and Indian Style
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